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| Time: 35 Minutes | Paper Math7(T-1) |  Total Marks:25 |

| 3rd Month, 2nd Week, 6th Day | Revision Test (2nd Week) |

Q.1. Choose the correct options. Ax5=5) - /;/l‘?ll(..,alﬁu/)

(i) By dividing 5x'y’ by 5x’y we get: 3‘Lt')’id"(7¢'_.¢/(:}l/? 5x’y g 5x'y?

@| XY o Y |© xy @]  6xy

(i) 50°m’+3¢’m’ =?

311

@) 5/m 4 7 2.9

Md| 54w © 5/*m (d) 50%

iii at is the product of 2x"y~ and 4x°y~?
iii) What is th duct of 2x*y? and 4x3y>?

() 8x%y> () 8xty’ () 8x’y’ ) 8x’y’

(iv) The product of 7x and ZXSy6 is:

() 14x3y® (b) 14x3y0 (©) 17x%y (d) 14x%y5

v) What is the product of 2¢*m? and 7¢3m®?
( p

@] 14r/m® || 14w’ [@©]| 154w’ |[@] 15¢m*

¥ Answer the following questions: - ;..,«LQLQJJVJ“ 3t
Q.2. Simplify; (2x5=10) - //‘:4

@) §x2+§(x—2) (x+2)n* (i) 6x7=3(x+4)+4(x+2)
(iii) 2x2(x -y)-3y(x+y) @iv) 4x* + 10(x+2)—-5(x—2)
(iv) (4m+3)(m*—4m+4) —(2m—3) (2m’ +3m —4)

Q.3. Simplify: (1x5=5) Y
8m —{2n +6—(4m-2n—-4)+2m’ - (2m’ —2n)}

Q.4.Subtract the first polynomial from the second polynomial. (2.5x2=5)
LS P S G
(i) 3x>+4x+2, 8x°+12x2+9x+10

(i) x*+2x%y +3xy* +y’, 4x° + 3x%y + 6xy? + 4y’
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WGl S K
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